
Lucia-bench



312/0004

2

• Only clean using a damp cloth
and mild detergent, do no use
bleach or abrasive cleaners.

there are no loose screws on
• From time to time check that

this armchair.

• This product should not be
discarded with household
waste. Take to your local
authority waste disposal centre.

• Do not fully tighten all screws 
until assembly is complete.

• Make sure each screw
matches the corresponding
figure to ensure correct
assembly.



M6 x 28mm Screw x 4

Plastic cap x 12 Allen key x 1

M6 x 38mm Screw x 8 Metal washer x 12
CA B

D      E



4

1 2

3 4

Chair back X 1 Chair seat X 1

Chair cushion X 1Chair armrest X 2



5

Important:
Do not fully tighten all screws 
until assembly is complete.

Important:
Do not fully tighten all screws 
until assembly is complete.

M6 x 38mm Screw x 4Metal washer x 4 Allen key x 1

C B      E

M6 x 38mm Screw x 4
Metal washer x 4

Allen key x 1

C B      E

M6 x 28mm Screw x 4

     A

     C
     B

M6 x 28mm Screw x 4

Plastic cap x 12 Allen key x 1

M6 x 38mm Screw x 8 Metal washer x 12
CA B

D      E

2
1

3

2

1

E

     A
     C

E

     B
C

E



6

Important:
Do not fully tighten all screws 
until assembly is complete.

M6 x 28mm Screw x 4M6 x 38mm Screw x 4
Metal washer x 4

Allen key x 1

C B      E      A

2

3

1
     B
E

     C     A
E

     C

D

Plastic cap x 12

6

     D
2

1

3

 



7

4

6


